L I8 B =4

DEIEMAE / 2 EIRe
PFEIEAME - FEASAMKAAE , THEWN
EH 22120.
FmiiR
PEIENVEN,
vl A
K B4 K T BIE AT R (EH
« TE 1.4305 22120.)o
EEMT el
« TEE 1.4305, HR BRI | #2003 B —MEORAE ( LLed
METRZRE ) .
Fig
« T 1.4305 E2ER
RSB
TR B3 HEH,
IRIE A BI MR,
BZ2Fm

< XEE, AT oERENS EEME , BB
- IEEIRER  ERTOEEME

EE
d3
-] S
WS
m 1)
o~ |
~ | ¢
wi - lock nut
- Lﬁ_l 22120.0515 — .0520 (stainless steel)

B2

EEHALDER & 7E: 15.1.2024



L I8 B =4

DEIEMAE / 2 EIRe
iTHER
R+ ws wEmE" & [
d, d, d; Iy I, 15 s 15 Fy F, max.
-0,02 = min min ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
TN
5 M10 x 1 21 51,0 5 17 5 15 12 6,0 14 250 43 22120.0615
6 M12x 1,5 25 61,0 6 20 6 17 14 6,5 19 250 71 22120.0616
8 M16 x 1,5 31 75,5 7 26 8 23 19 11,5 28 250 144 22120.0618
10 M20 x 1,5 31 91,0 10 33 10 30 22 28,0 54 250 203 22120.0620
Vit eiaE
R
R+ WRFRF i
d;
[mm] [mm] [9]
Lock nuts ISO 8675 (DIN 439), T84
M10 x 1 16 52 22120.0515
M12x1,5 18 75 22120.0516
M16x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520

B
3
ot
p|

qr
AU

L
L J

//\\L/L”\\\\,//\

g

For detailed compliance information please select the desired article number.

2w 2
EE HALDER & 7E: 15.1.2024


http://halder.com/cn/22120.0615
http://halder.com/cn/22120.0616
http://halder.com/cn/22120.0618
http://halder.com/cn/22120.0620
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520

